
Price book 14  Effective March 1, 2024  289

1

105

4
3

11

9

23 16

8
21 20

19 18

17

15

1413
6

12
2

22

1690/1790 Series | Parts

1790 SERIES DEVICE PARTSEXPLODED VIEW

1790 SERIES EXPLODED VIEW AND DEVICE PARTS LIST

Part No� Description US Finish BHMA Finish Pkg Qty Price

1 ECAP.130 Channel/hingeside end cap kit - - Each $38.00

2 COVER.120 Center case cover kit - - Each $55.00

3 KEY.10020 Hex dogging key 5/32" - - 10 $62.00

4 SCREW.1070 1/4-20 1/2" PPHMS Screw - - 10 $19.00

5 SCREW.1072 #8 1.1/2" FPH TC Typ AB Screw (before September 2004) - - 10 $19.00

SCREW.1143 8-18 1.1/4" FPH TF Typ 25 - - 10 $34.00

6 SCREW.1075 1/4-20 3/4" PPHMS Screw - - 10 $20.00

SCREW.1121 10-32-3/8" UFPH TF US28 628 8 $16.00

7 PKG.133 Auxiliary package - - Each $16.00

8 LBOLT.105 Latch assembly - - Each $85.00

SWITCH.1006 RX Switch wire assembly (not shown). Valid for field install RX option 
on devices shipped after June 2002

- - Each $317.00

050534-00 EL Potted circuit breaker (not shown) - - Each $483.00

110388-00 EL Cable assembly (not shown) - - Each $67.00

9 PIN.128 Pushbar pin - - 10 $20.00

10 971493-76 Dogging spring - - Each $15.00

11 KIT.1197 Dogging kit US28 628 Each $44.00

12 SCREW.1025 8 x 5/8" FPHTC Typ 25 (before July 2006) - - 10 $32.00

13 ECAP.129 Lock stile end cap DC35 711 Each $23.00

14 SCREW.1077 8-3/4" FPHSMS (before September 2004) Black - 10 $34.00

SCREW.1141 8-18 .3/4" FPH TF Typ 25 - - 10 $26.00

15 969467-89 Latch pin - - Each $16.00

1790 Pushbars on page 282.

LO
CK

S
D

O
O

R
 C

LO
SE

RS
EL

EC
TR

O
N

IC
S

FO
R

M
S

M
ER

CH
A

N
D

IS
IN

G
 A

ID
S

EX
IT

 D
EV

IC
ES



290  Price book 14  Effective March 1, 2024

1690/1790 Series | Parts

1790 SERIES EXPLODED VIEW AND DEVICE PARTS LIST

Part No� Description US Finish BHMA Finish Pkg Qty Price

16 RRING.105 Latch pin retaining clip - - 10 $19.00

17 4270109548 Short arm allen wrench - - Each $15.00

18 SCREW.1150 10-32-3/8" UFPH MS - - 10 $33.00

19 SPACER.107 1790 Channel spacer - - Each $26.00

20 CAMASY.101 Drive bushing - - Each $66.00

21 SLIDER.101 Slider - - Each $15.00

22 179CA 1790 NL/HB Cylinder assembly - - Each $39.00

23 BRKT.128 Pushbar anchor bracket - - Each $15.00

1790 Pushbars on page 282.

1790 SERIES DEVICE PARTSEXPLODED VIEW

25 SER
IES

24 SER
IES

19 SER
IES

20
 SER

IES
1690/1790

 SER
IES

1490/1590
 SER

IES
2390

 SER
IES

1990/20
90

 SER
IES

ACC
ESSO

R
IES




